

#### Some congruences related to a congruence of Van Hamme

Journal:	Integral Transforms And Special Functions
Manuscript ID	GITR-2019-0066.R1
Manuscript Type:	Original Article
Date Submitted by the Author:	02-Oct-2019
Complete List of Authors:	Guo, Victor J. W.; Huaiyin Normal University, Liu, Ji-Cai; Wenzhou University
Keywords:	supercongruence, Euler numbers, gamma function, Whipple's \$_7F_6\$ transformation, WZ-pair
<a href="http://www.ams.org/mathscinet/msc/msc2010.html" target="_blank">2010 Mathematics Subject Classification</a> :	33C20, 33B15, 11A07, 11B65, 65B10

SCHOLARONE™ Manuscripts

#### Some congruences related to a congruence of Van Hamme

Victor J. W. Guo<sup>1</sup> and Ji-Cai Liu<sup>2\*</sup>

<sup>1</sup>School of Mathematics and Statistics, Huaiyin Normal University, Huai'an 223300, Jiangsu, People's Republic of China jwguo@hytc.edu.cn

<sup>2</sup>Department of Mathematics, Wenzhou University, Wenzhou 325035, People's Republic of China jcliu2016@gmail.com

**Abstract.** We establish some supercongruences related to a supercongruence of Van Hamme, such as

$$\sum_{k=0}^{(p+1)/2} (-1)^k (4k-1) \frac{\left(-\frac{1}{2}\right)_k^3}{k!^3} \equiv p(-1)^{(p+1)/2} + p^3 (2 - E_{p-3}) \pmod{p^4},$$

$$\sum_{k=0}^{(p+1)/2} (4k-1)^5 \frac{\left(-\frac{1}{2}\right)_k^4}{k!^4} \equiv 16p \pmod{p^4},$$

where p is an odd prime and  $E_{p-3}$  is the (p-3)-th Euler number. Our proof uses some congruences of Z.-W. Sun, the Wilf–Zeilberger method, Whipple's  $_7F_6$  transformation, and the Mathematica package Sigma developed by Schneider. We also put forward two related conjectures.

Keywords: supercongruence; Euler numbers; gamma function; Whipple's  $_7F_6$  transformation; WZ-pair.

AMS Subject Classifications: 33C20, 33B15, 11A07, 11B65, 65B10

### 1. Introduction

In 1997, Van Hamme [32] conjectured that the Ramanujan-type formula for  $1/\pi$ :

$$\sum_{k=0}^{\infty} (-1)^k (4k+1) \frac{(\frac{1}{2})_k^3}{k!^3} = \frac{2}{\pi},$$

due to Bauer [2], possesses a nice p-adic analogue:

$$\sum_{k=0}^{(p-1)/2} (-1)^k (4k+1) \frac{(\frac{1}{2})_k^3}{k!^3} \equiv p(-1)^{(p-1)/2} \pmod{p^3}.$$
 (1.1)

<sup>\*</sup>Corresponding author.

Here and throughout the paper, p is an odd prime and  $(a)_k = a(a+1)\cdots(a+k-1)$  is the Pochhammer symbol. The supercongruence (1.1) was first proved by Mortenson [24] in 2008 and reproved by Zudilin [34] in 2009. Motivated by Zudilin's work, in 2018, the first author [5] gave a q-analogue of (1.1) as follows:

$$\sum_{k=0}^{(p-1)/2} (-1)^k q^{k^2} [4k+1] \frac{(q;q^2)_k^3}{(q^2;q^2)_k^3} \equiv [p] q^{(p-1)^2/4} (-1)^{(p-1)/2} \pmod{[p]^3},$$

where  $(a;q)_n = (1-a)(1-aq)\cdots(1-aq^{n-1})$  and  $[n] = [n]_q = 1+q+\cdots+q^{n-1}$ . For more supercongruences and q-supercongruences, we refer the reader to [4,6-21,27,30,31]. On the other hand, there is a similar supercongruence as follows:

$$\sum_{k=0}^{(p+1)/2} (-1)^k (4k-1) \frac{\left(-\frac{1}{2}\right)_k^3}{k!^3} \equiv p(-1)^{(p+1)/2} \pmod{p^3},\tag{1.2}$$

which is a special case of [9, Theorem 1.3] or [17, Theorem 4.9] (see also [16, Section 5]). Note that Sun [29] gave the following refinement of (1.1) modulo  $p^4$ :

$$\sum_{k=0}^{(p-1)/2} (-1)^k (4k+1) \frac{(\frac{1}{2})_k^3}{k!^3} \equiv p(-1)^{(p-1)/2} + p^3 E_{p-3} \pmod{p^4}, \tag{1.3}$$

where  $E_n$  is the *n*-th Euler number which may be defined by

$$\sum_{n=0}^{\infty} E_n \frac{x^n}{n!} = \frac{2e^x}{e^{2x} + 1} \quad \text{for} \quad |x| < \frac{\pi}{2}.$$

Inspired by Sun's result (1.3), we shall prove the following refinement of (1.2) modulo  $p^4$ .

Theorem 1.1. We have

$$\sum_{k=0}^{(p+1)/2} (-1)^k (4k-1) \frac{(-\frac{1}{2})_k^3}{k!^3} \equiv p(-1)^{(p+1)/2} + p^3 (2 - E_{p-3}) \pmod{p^4}. \tag{1.4}$$

We shall also prove the following weaker supercongruence.

Theorem 1.2. We have

$$\sum_{k=0}^{(p+1)/2} (-1)^k (4k-1)^3 \frac{(-\frac{1}{2})_k^3}{k!^3} \equiv 3p(-1)^{(p-1)/2} \pmod{p^2}.$$
 (1.5)

To the best of our knowledge, there are no q-congruences involving the Euler numbers  $E_{p-3}$  in the literature. For this reason, we believe that it is

difficult to find a q-analogue of (1.4). Recently, the first author [6, Theorem 5.1] gave a q-analogue of (1.5) as follows:

$$\sum_{k=0}^{(p+1)/2} (-1)^k q^{2k^2} [4k-1]_{q^2} [4k-1]^2 \frac{(q^{-2};q^4)_k^3}{(q^4;q^4)_k^3} \equiv \frac{2+q}{q^3} [p]_{q^2} q^{(p-1)^2/2} (-1)^{(p-1)/2} \pmod{[p]^3}.$$

The first author and Schlosser [15] proved the following supercongruence

$$\sum_{k=0}^{(p+1)/2} (4k-1) \frac{\left(-\frac{1}{2}\right)_k^4}{k!^4} \equiv -5p^4 \pmod{p^5}.$$

In this paper, using the same method in [20], we shall prove the following related result.

Theorem 1.3. We have

$$\sum_{k=0}^{(p+1)/2} (4k-1)^3 \frac{(-\frac{1}{2})_k^4}{k!^4} \equiv 0 \pmod{p^4},$$

$$\sum_{k=0}^{(p+1)/2} (4k-1)^5 \frac{(-\frac{1}{2})_k^4}{k!^4} \equiv 16p \pmod{p^4},$$

$$\sum_{k=0}^{(p+1)/2} (4k-1)^7 \frac{(-\frac{1}{2})_k^4}{k!^4} \equiv 80p \pmod{p^4}.$$

We can also give similar supercongruences for  $\sum_{k=0}^{(p+1)/2} (4k-1)^m (-\frac{1}{2})_k^4 / k!^4$  for some other odd integers  $m \geqslant 9$ . But the proofs will become more complicated and we omit these results here.

## 2. Proof of Theorem 1.1

We first give the following result due to Sun [28].

Lemma 2.1. We have

$$\sum_{k=1}^{(p-1)/2} \frac{4^k}{(2k-1)\binom{2k}{k}} \equiv E_{p-1} - 1 + (-1)^{(p-1)/2} \pmod{p}. \tag{2.1}$$

We also need the following congruence, which was given in the proof of [29, Theorem 1.1] implicitly.

**Lemma 2.2.** For  $1 \le k \le (p-1)/2$ , we have

$$(-1)^{(p+1)/2+k} \frac{2(\frac{1}{2})_{(p+1)/2}^2(\frac{1}{2})_{(p-1)/2+k}}{(1)_{(p-1)/2}^2(1)_{(p+1)/2-k}(\frac{1}{2})_k^2} \equiv \frac{p^3 4^k}{2k(2k-1)\binom{2k}{k}} \pmod{p^4}. \tag{2.2}$$

Proof of Theorem 1.1. For all non-negative integers n and k, define the functions

$$F(n,k) = (-1)^{n+k} \frac{(4n-1)(-\frac{1}{2})_n^2(-\frac{1}{2})_{n+k}}{(1)_n^2(1)_{n-k}(-\frac{1}{2})_k^2},$$

$$G(n,k) = (-1)^{n+k} \frac{2(-\frac{1}{2})_n^2(-\frac{1}{2})_{n+k-1}}{(1)_{n-1}^2(1)_{n-k}(-\frac{1}{2})_k^2},$$

where we assume that  $1/(1)_m = 0$  for  $m = -1, -2, \ldots$  The functions F(n, k) and G(n, k) form a Wilf-Zeilberger pair (WZ-pair). Namely, they satisfy the following relation

$$F(n,k-1) - F(n,k) = G(n+1,k) - G(n,k).$$
(2.3)

This WZ-pair is similar to one WZ-pair in [34] and can be found in the spirit of [3,25]. Summing (2.3) over n from 0 to (p+1)/2, we obtain

$$\sum_{n=0}^{(p+1)/2} F(n,k-1) - \sum_{n=0}^{(p+1)/2} F(n,k) = G\left(\frac{p+3}{2},k\right) - G(0,k) = G\left(\frac{p+3}{2},k\right). \tag{2.4}$$

Summing (2.4) further over k = 1, 2, ..., (p+1)/2, we get

$$\sum_{n=0}^{(p+1)/2} F(n,0) = F\left(\frac{p+1}{2}, \frac{p+1}{2}\right) + \sum_{k=1}^{(p+1)/2} G\left(\frac{p+3}{2}, k\right), \tag{2.5}$$

where we have used F(n, k) = 0 for n < k.

It is easy to see that

$$F\left(\frac{p+1}{2}, \frac{p+1}{2}\right) = \frac{(2p+1)(-\frac{1}{2})_{p+1}}{(1)_{(p+1)/2}^2} = -\frac{2p(2p+1)}{4^p(p+1)^2} {2p \choose p} {p-1 \choose (p-1)/2}$$

$$\equiv (-1)^{(p+1)/2} \frac{p(2p+1)}{(p+1)^2} \equiv (-1)^{(p-1)/2} (p^3 - p) \pmod{p^4}, \tag{2.6}$$

where we have used Wolstenholme's congruence [33]:

$$\binom{2p}{p} \equiv 2 \pmod{p^3} \quad \text{for } p > 3,$$

and Morley's congruence [23]:

$$\binom{p-1}{(p-1)/2} \equiv (-1)^{(p-1)/2} 4^{p-1} \pmod{p^3}$$
 for  $p > 3$ .

Moreover, we have

$$\sum_{k=1}^{(p+1)/2} G\left(\frac{p+3}{2}, k\right) = G\left(\frac{p+3}{2}, 1\right) + \sum_{k=1}^{(p-1)/2} G\left(\frac{p+3}{2}, k+1\right)$$

$$= (-1)^{(p-1)/2} \frac{p^3}{(p+1)^3 2^{3(p-1)}} \binom{p-1}{(p-1)/2}^3$$

$$+ \sum_{k=1}^{(p-1)/2} (-1)^{(p+5)/2+k} \frac{2(-\frac{1}{2})^2_{(p+3)/2}(-\frac{1}{2})_{(p+3)/2+k}}{(1)^2_{(p+1)/2}(1)_{(p+1)/2-k}(-\frac{1}{2})^2_{k+1}}$$

$$\equiv p^3 - \sum_{k=1}^{(p-1)/2} (-1)^{(p+1)/2+k} \frac{4(\frac{1}{2})^2_{(p+1)/2}(\frac{1}{2})_{(p+1)/2+k}(\frac{p}{2}+k)}{(1)^2_{(p-1)/2}(1)_{(p+1)/2-k}(\frac{1}{2})^2_k(p+1)^2} \pmod{p^4}.$$

By (2.2), modulo  $p^4$  we may write the right-hand side of the above congruence as

$$p^{3} - \frac{p^{3}}{(p+1)^{2}} \sum_{k=1}^{(p-1)/2} \frac{4^{k}}{(2k-1)\binom{2k}{k}}.$$

Therefore, by (2.1), we obtain

$$\sum_{k=1}^{(p+1)/2} G\left(\frac{p+3}{2}, k\right) \equiv p^3 - p^3 (E_{p-3} - 1 + (-1)^{(p-1)/2}) \pmod{p^4}. \tag{2.7}$$

Substituting (2.6) and (2.7) into (2.5), we arrive at (1.4).

### 3. Proof of Theorem 1.2

Recall that the gamma function  $\Gamma(z)$ , for any complex number z with the real part positive, may be defined by

$$\Gamma(z) = \int_0^\infty x^{z-1} e^{-x} dx,$$

and can be uniquely analytically extended to a meromorphic function defined for all complex numbers z, except for non-positive integers. It is worthwhile to mention that the gamma function has the property  $\Gamma(z+1) = z\Gamma(z)$ .

We need the following hypergeometric identity, which is a specialization of Whipple's  $_7F_6$  transformation (see [1, p. 28]):

$${}_{6}F_{5}\begin{bmatrix} a, & 1 + \frac{1}{2}a, & b, & c, & d, & e \\ & \frac{1}{2}a, & 1 + a - b, & 1 + a - c, & 1 + a - d, & 1 + a - e \end{bmatrix}; -1$$

$$= \frac{\Gamma(1 + a - d)\Gamma(1 + a - e)}{\Gamma(1 + a)\Gamma(1 + a - d - e)} {}_{3}F_{2}\begin{bmatrix} 1 + a - b - c, & d, & e \\ & 1 + a - b, & 1 + a - c \end{bmatrix}; 1$$

$$(3.1)$$

where

$$_{r+1}F_r\begin{bmatrix} a_0, & a_1, & \dots, & a_r \\ & b_1, & \dots, & b_r \end{bmatrix} = \sum_{k=0}^{\infty} \frac{(a_0)_k (a_1)_k \cdots (a_r)_k}{k! (b_1)_k \cdots (b_r)_k} z^k.$$

Motivated by McCarthy and Osburn [22] and Mortenson [24], we take the following choice of variables in (3.1). Letting  $a=-\frac{1}{2},\ b=c=\frac{3}{4},\ d=\frac{-1-p}{2},\ \text{and}\ e=\frac{-1+p}{2},\ \text{we conclude immediately that}$ 

$${}_{6}F_{5} \begin{bmatrix} -\frac{1}{2}, & \frac{3}{4}, & \frac{3}{4}, & \frac{3}{4}, & \frac{-1-p}{2}, & \frac{-1+p}{2} \\ -\frac{1}{4}, & -\frac{1}{4}, & -\frac{1}{4}, & 1+\frac{p}{2}, & 1-\frac{p}{2} \end{bmatrix}; -1 \end{bmatrix}$$

$$= \frac{\Gamma(1+\frac{p}{2})\Gamma(1-\frac{p}{2})}{\Gamma(\frac{1}{2})\Gamma(\frac{3}{2})} {}_{3}F_{2} \begin{bmatrix} -1, & \frac{-1-p}{2}, & \frac{-1+p}{2} \\ -\frac{1}{4}, & -\frac{1}{4} \end{bmatrix}; 1 \end{bmatrix}.$$

It is easy to see that, for  $k = 0, 1, \dots, (p-1)/2$ ,

$$\frac{\left(\frac{-1-p}{2}\right)_k \left(\frac{-1+p}{2}\right)_k}{\left(1+\frac{p}{2}\right)_k \left(1-\frac{p}{2}\right)_k} = \prod_{j=1}^k \frac{(2j-3)^2 - p^2}{4j^2 - p^2} \equiv \frac{\left(-\frac{1}{2}\right)_k^2}{k!^2} \pmod{p^2}.$$

Applying the property  $\Gamma(x+1) = x\Gamma(x)$ , we obtain

$$\frac{\Gamma(1+\frac{p}{2})\Gamma(1-\frac{p}{2})}{\Gamma(\frac{1}{2})\Gamma(\frac{3}{2})} = p(-1)^{(p-1)/2},$$

and so

$$-\sum_{k=0}^{(p+1)/2} (-1)^k (4k-1)^3 \frac{\left(-\frac{1}{2}\right)_k^3}{k!^3} \equiv p(-1)^{\frac{(p-1)}{2}} {}_3F_2 \begin{bmatrix} -1, & \frac{-1-p}{2}, & \frac{-1+p}{2} \\ -\frac{1}{4}, & -\frac{1}{4} \end{bmatrix}; 1$$

$$= p(-1)^{\frac{(p-1)}{2}} (1 - 4(1 - p^2))$$

$$\equiv -3p(-1)^{\frac{(p-1)}{2}} \pmod{p^2},$$

as desired.

#### 4. Proof of Theorem 1.3

Let  $H_n^{(2)} = \sum_{j=1}^n \frac{1}{j^2}$ . The following lemma plays an important role in our proof.

**Lemma 4.1.** For any integer  $n \ge 2$  and odd positive integer m with  $3 \le m \le 7$ , we have

$$\sum_{k=0}^{n} (4k-1)^m \frac{\left(-\frac{1}{2}\right)_k^2 (-n)_k (n-1)_k}{\left(1\right)_k^2 \left(n+\frac{1}{2}\right)_k \left(\frac{3}{2}-n\right)_k} = f_m(n), \tag{4.1}$$

$$\sum_{k=0}^{n} (4k-1)^m \frac{\left(-\frac{1}{2}\right)_k^2 (-n)_k (n-1)_k}{(1)_k^2 \left(n+\frac{1}{2}\right)_k \left(\frac{3}{2}-n\right)_k} \sum_{j=1}^{k} \left(\frac{1}{4j^2} - \frac{1}{(2j-3)^2}\right) = g_m(n), \tag{4.2}$$

where  $f_m(n)$  and  $g_m(n)$  are listed in the following table:

Table 1: Values of  $f_m(n)$  and  $g_m(n)$ .

m	$f_m(n)$	$g_m(n)$
3	0	$\frac{(2n-1)^2(7n^2-7n+1)}{4n^2(n-1)^2}$
5	-64n(n-1)(2n-1)	$\frac{(2n-1)(256n^6 - 640n^5 + 320n^4 + 414n^3 - 493n^2 + 145n - 1)}{4n^2(n-1)^2} + 32n(n-1)(2n-1)H_n^{(2)}$
7	$-64n(n - 1)(2n - 1)(24n^2 - 24n + 11)$	$\frac{(2n-1)(6144n^8-21504n^7+24320n^6-1920n^5-18496n^4+17582n^3-7557n^2+1433n-1)}{4n^2(n-1)^2} + 32n(n-1)(2n-1)\left(24n^2-24n+11\right)H_n^{(2)}$

Remark. For fixed odd  $m \ge 9$ , there exist similar formulas for (4.1) and (4.2). But the formulas will become larger and larger and there are no general formulas for these m's.

*Proof.* By using the Mathematica package Sigma due to Schneider [26], one can automatically discover and prove (4.1) and (4.2). For example, the steps to discover and prove (4.2) for m = 5 are as follows.

Define the following sum:

$$\ln[1]:=\text{mySum} = \sum_{k=0}^{n} (4k-1)^{5} \frac{\left(-\frac{1}{2}\right)_{k}^{2}(-n)_{k}(n-1)_{k}}{(1)_{k}^{2}\left(n+\frac{1}{2}\right)_{k}\left(\frac{3}{2}-n\right)_{k}} \sum_{j=1}^{k} \left(\frac{1}{4j^{2}} - \frac{1}{(2j-3)^{2}}\right) \\
\text{Compute the recurrence for this sum:}$$

In[2]:=rec=GenerateRecurrence[mySum, n][[1]]

$$\begin{split} & \operatorname{Out}[2] = (1+n)(1+2n)\operatorname{SUM}[n] - (-1+n)(-1+2n)\operatorname{SUM}[1+n] \\ & = = \frac{(-1+2n)(1+2n)(78-183n^2+109n^4)}{2(-1+n)^2n(1+n)^2} + \frac{n(-1+2n)^3(1+2n)^2(3+2n)(3+4n)^4\left(-\frac{1}{2}\right)_n^2(-1+n)_n(-n)_n}{2(1+n)^3(1+4n)(1)_n^2\left(\frac{3}{2}-n\right)_n\left(\frac{1}{2}+n\right)_n} \\ & - \frac{n(-1+2n)^3(1+2n)^2(3+2n)(3+4n)^4\left(-\frac{1}{2}\right)_n^2(-1+n)_n(-n)_n}{2(1+n)^3(1+4n)(1)_n^2\left(\frac{1}{2}(3-2n)\right)_n\left(\frac{1}{2}(1+2n)\right)_n} \\ & + \left(-\frac{n(-1+2n)^3(1+2n)(3+4n)^4\left(-\frac{1}{2}\right)_n^2(-1+n)_n(-n)_n}{2(1+n)(1+4n)(1)_n^2\left(\frac{3}{2}-n\right)_n\left(\frac{1}{2}+n\right)_n} + \frac{n(-1+2n)^3(1+2n)(3+4n)^4\left(-\frac{1}{2}\right)_n^2(-1+n)_n(-n)_n}{2(1+n)(1+4n)(1)_n^2\left(\frac{3}{2}(3-2n)\right)_n\left(\frac{1}{2}(1+2n)\right)_n} \right) \left(\sum_{\iota_1=1}^n \frac{1}{\iota_1^2}\right) \\ & + \left(\frac{2n(-1+2n)^3(1+2n)(3+4n)^4\left(-\frac{1}{2}\right)_n^2(-1+n)_n(-n)_n}{(1+n)(1+4n)(1)_n^2\left(\frac{3}{2}-n\right)_n\left(\frac{1}{2}+n\right)_n} - \frac{2n(-1+2n)^3(1+2n)(3+4n)^4\left(-\frac{1}{2}\right)_n^2(-1+n)_n(-n)_n}{(1+n)(1+4n)(1)_n^2\left(\frac{1}{2}(3-2n)\right)_n\left(\frac{1}{2}(1+2n)\right)_n} \right) \left(\sum_{\iota_1=1}^n \frac{1}{(-1+2\iota_1)^2}\right) \end{split}$$

Now we solve this recurrence:

In[3]:=recSol=SolveRecurrence[rec,SUM[n]]

$$\begin{aligned} & \text{Out}[\mathbf{3}] \! = \! \big\{ \{0, (-1+n)n(-1+2n)\}, \\ & \left\{ 1, \frac{(-1+2n)\left(-1+145n-493n^2+670n^3-448n^4+128n^5\right)}{4(-1+n)^2n^2} + 32(-1+n)n(-1+2n) \left( \sum_{\iota_1=1}^{n} \frac{1}{\iota_1^2} \right) \right\} \right\} \end{aligned}$$

Finally, we combine the solutions to represent mySum:

 $In[4] \small{:=} Find Linear Combination [recSol, mySum, 1]$ 

$$\mathsf{Out}[4] = \frac{(-1+2n)\left(-1+145n-493n^2+414n^3+320n^4-640n^5+256n^6\right)}{4(-1+n)^2n^2} + 32(-1+n)n(-1+2n)\left(\sum_{\iota_1=1}^n \frac{1}{\iota_1^2}\right)^{-1} + 32(-1+n)n(-1+2n) \left(\sum_{\iota_1=1}^n \frac{1}{\iota_1^2}\right)^{-1} + 3$$

Thus, we discover and prove (4.2) for m=5.

Proof of Theorem 1.3. Observe that

$$\frac{(2j-3)^2-x^2}{(2j)^2-x^2} = \left(\frac{2j-3}{2j}\right)^2 - \frac{3(4j-3)}{(2j)^4}x^2 + O(x^4),$$

and

$$\prod_{j=1}^{k} (a_j + b_j x^2) = \left(\prod_{j=1}^{k} a_j\right) \left(1 + x^2 \sum_{j=1}^{k} \frac{b_j}{a_j}\right) + O(x^4).$$

Hence, for  $0 \le k \le (p+1)/2$ , we have

$$\frac{\left(\frac{-1-p}{2}\right)_k\left(\frac{-1+p}{2}\right)_k}{(1+\frac{p}{2})_k(1-\frac{p}{2})_k} = \prod_{j=1}^k \frac{(2j-3)^2 - p^2}{(2j)^2 - p^2}$$

$$\equiv \frac{\left(-\frac{1}{2}\right)_k^2}{k!^2} \left(1+p^2 \sum_{j=1}^k \left(\frac{1}{(2j)^2} - \frac{1}{(2j-3)^2}\right)\right) \pmod{p^4}. \tag{4.3}$$

Letting n = (p+1)/2 in (4.1) and using (4.3), we get

$$\sum_{k=0}^{(p+1)/2} (4k-1)^m \frac{\left(-\frac{1}{2}\right)_k^4}{k!^4} \left(1 + p^2 \sum_{j=1}^k \left(\frac{1}{(2j)^2} - \frac{1}{(2j-3)^2}\right)\right)$$

$$\equiv f_m \left(\frac{p+1}{2}\right) \pmod{p^4}.$$
(4.4)

Furthermore, it follows from (4.3) that

$$\frac{\left(\frac{-1-p}{2}\right)_k \left(\frac{-1+p}{2}\right)_k}{\left(1+\frac{p}{2}\right)_k \left(1-\frac{p}{2}\right)_k} \equiv \frac{\left(-\frac{1}{2}\right)_k^2}{k!^2} \pmod{p^2}.$$
 (4.5)

Letting n = (p+1)/2 in (4.2) and noticing (4.5), we obtain

$$\sum_{k=0}^{(p+1)/2} (4k-1)^m \frac{(-\frac{1}{2})_k^4}{k!^4} \sum_{i=1}^k \left( \frac{1}{(2j)^2} - \frac{1}{(2j-3)^2} \right) \equiv g_m \left( \frac{p+1}{2} \right) \pmod{p^2}. \tag{4.6}$$

Finally, combining (4.4) and (4.6) we are led to

$$\sum_{k=0}^{(p+1)/2} (4k-1)^m \frac{(-\frac{1}{2})_k^4}{k!^4} \equiv f_m \left(\frac{p+1}{2}\right) - p^2 g_m \left(\frac{p+1}{2}\right) \pmod{p^4}. \tag{4.7}$$

Note that

$$H_{(p+1)/2}^{(2)} = \left(\frac{2}{p+1}\right)^2 + H_{(p-1)/2}^{(2)} \equiv 4 \pmod{p}.$$
 (4.8)

The proof then follows from (4.7), (4.8) and Lemma 4.1.

### 5. Two open problems

We end the paper with the following two conjectures, which are generalizations of Theorems 1.2 and 1.3. Note that there are similar unsolved conjectures in [4].

Conjecture 5.1. For any odd positive integer m, there exists an integer  $c_m$  such that, for any odd prime p and positive integer r, there hold

$$\sum_{k=0}^{\frac{p^r+1}{2}} (-1)^k (4k-1)^m \frac{(-\frac{1}{2})_k^3}{k!^3} \equiv c_m p^r (-1)^{\frac{(p-1)r}{2}} \pmod{p^{r+2}},$$

$$\sum_{k=0}^{p^r-1} (-1)^k (4k-1)^m \frac{(-\frac{1}{2})_k^3}{k!^3} \equiv c_m p^r (-1)^{\frac{(p-1)r}{2}} \pmod{p^{r+2}}.$$

In particular, we have  $c_1 = -1$ ,  $c_3 = 3$ ,  $c_5 = 23$ ,  $c_7 = -5$ ,  $c_9 = 1647$ , and  $c_{11} = -96973$ .

Conjecture 5.2. For any odd positive integer m, there exists an integer  $d_m$  such that, for any odd prime p and positive integer r, there hold

$$\sum_{k=0}^{\frac{p^r+1}{2}} (4k-1)^m \frac{\left(-\frac{1}{2}\right)_k^4}{k!^4} \equiv d_m p^r \pmod{p^{r+3}},$$

$$\sum_{k=0}^{p^r-1} (4k-1)^m \frac{\left(-\frac{1}{2}\right)_k^4}{k!^4} \equiv d_m p^r \pmod{p^{r+3}}.$$

In particular, we have  $d_1 = d_3 = 0$ ,  $d_5 = 16$ ,  $d_7 = 80$ ,  $d_9 = 192$ ,  $d_{11} = 640$ ,  $d_{13} = -3472$ , and  $d_{15} = 138480$ .

Note that, Conjecture 5.1 is true for m = 1 by [9, Theorem 1.3], and Conjecture 5.2 is also true for m = 1 by [15, Theorem 1.1].

**Acknowledgments.** The second author was supported by the National Natural Science Foundation of China (grant 11801417).

# References

- [1] W.N. Bailey, Generalized Hypergeometric Series, Cambridge Tracts in Mathematics and Mathematical Physics 32, Cambridge University Press, London, 1935.
- [2] G. Bauer, Von den coefficienten der Reihen von Kugelfunctionen einer variabeln, J. Reine Angew. Math. 56 (1859), 101–121.
- [3] S.B. Ekhad and D. Zeilberger, A WZ proof of Ramanujan's formula for  $\pi$ , in: Geometry, Analysis, and Mechanics, J.M. Rassias Ed., World Scientific, Singapore, 1994, pp. 107–108.
- [4] V.J.W. Guo, Some generalizations of a supercongruence of van Hamme, Integral Transforms Spec. Funct. 28 (2017), 888–899.

- [5] V.J.W. Guo, A q-analogue of a Ramanujan-type supercongruence involving central binomial coefficients, J. Math. Anal. Appl. 458 (2018), 590–600.
- [6] V.J.W. Guo, Common q-analogues of some different supercongruences, Results Math. 74 (2019), Art. 131.
- [7] V.J.W. Guo, Factors of some truncated basic hypergeometric series, J. Math. Anal Appl. 476 (2019), 851–859.
- [8] V.J.W. Guo, A q-analogue of the (I.2) supercongruence of Van Hamme, Int. J. Number Theory 15 (2019), 29–36.
- [9] V.J.W. Guo, q-Analogues of the (E.2) and (F.2) supercongruences of Van Hamme, Ramanujan J. 49 (2019), 531–544.
- [10] V.J.W. Guo, A q-analogue of a curious supercongruence of Guillera and Zudilin, J. Difference Equ. Appl. 25 (2019), 342–350.
- [11] V.J.W. Guo, Some q-congruences with parameters, Acta Arith. 190 (2019), 381–393.
- [12] V.J.W. Guo and J.-C. Liu, q-Analogues of two Ramanujan-type formulas for  $1/\pi$ , J. Difference Equ. Appl. 24 (2018), 1368–1373.
- [13] V. J. W. Guo, H. Pan and Y. Zhang, The Rodriguez-Villegas type congruences for truncated q-hypergeometric functions, J. Number Theory 174 (2017), 358–368.
- [14] V.J.W. Guo and M.J. Schlosser, Some new q-congruences for truncated basic hypergeometric series, Symmetry 11(2) (2019), Art. 268.
- [15] V.J.W. Guo and M.J. Schlosser, Proof of a basic hypergeometric supercongruence modulo the fifth power of a cyclotomic polynomial, J. Difference Equ. Appl. 25 (2019), 921–929.
- [16] V.J.W. Guo and M.J. Schlosser, Some q-supercongruences from transformation formulas for basic hypergeometric series, preprint, December 2018; arXiv:1812.06324.
- [17] V.J.W. Guo and W. Zudilin, A q-microscope for supercongruences, Adv. Math. 346 (2019), 329–358.
- [18] V.J.W. Guo and W. Zudilin, On a q-deformation of modular forms, J. Math. Anal. Appl. 475 (2019), 1636–646.
- [19] J.-C. Liu, On Van Hamme's (A.2) and (H.2) supercongruences, J. Math. Anal. Appl. 471 (2019), 613–622.
- [20] J.-C. Liu, Semi-automated proof of supercongruences on partial sums of hypergeometric series, J. Symbolic Comput. 93 (2019), 221–229.
- [21] J.-C. Liu and F. Petrov, Congruences on sums of q-binomial coefficients, preprint, February 2019; arXiv:1902.03851.
- [22] D. McCarthy and R. Osburn, A p-adic analogue of a formula of Ramanujan, Arch. Math. 91 (2008), 492–504.
- [23] F. Morley, Note on the congruence  $2^{4n} \equiv (-1)^n (2n)! / (n!)^2$ , where 2n + 1 is a prime, Ann. of Math. 9 (1894/95), 168–170.
- [24] E. Mortenson, A p-adic supercongruence conjecture of van Hamme, Proc. Amer. Math. Soc. 136 (2008), 4321–4328.
- [25] M. Petkovšek, H.S. Wilf, and D. Zeilberger, A = B, A K Peters, Wellesley, 1996.
- [26] C. Schneider, Symbolic summation assists combinatorics, Sém. Lothar. Combin. 56 (2007), B56b, 36 pp.

- [27] A. Straub, Supercongruences for polynomial analogs of the Apéry numbers, Proc. Amer. Math. Soc. 147 (2019), 1023–1036.
- [28] Z.-W. Sun, On congruences related to central binomial coefficients, J. Number Theory 131 (2011), 2219–2238.
- [29] Z.-W. Sun, A refinement of a congruence result by van Hamme and Mortenson, Illinois J. Math. 56 (2012), 967–979.
- [30] H. Swisher, On the supercongruence conjectures of van Hamme, Res. Math. Sci. (2015) 2:18.
- [31] R. Tauraso, Some q-analogs of congruences for central binomial sums, Colloq. Math. 133 (2013), 133–143.
- [32] L. Van Hamme, Some conjectures concerning partial sums of generalized hypergeometric series, in: p-Adic functional analysis (Nijmegen, 1996), Lecture Notes in Pure and Appl. Math. 192, Dekker, New York (1997), 223–236.
- [33] J. Wolstenholme, On certain properties of prime numbers, Quart. J. Appl. Math. 5 (1862), 35–39.
- [34] W. Zudilin, Ramanujan-type supercongruences, J. Number Theory 129 (2009), 1848–1857.